
Name: Long multiplication - missing number (Skill 83)

Long multiplication (missing number)

1) 93 x _____ = 6231

2) 43 x _____ = 3698

3) 41 x _____ = 3444

4) 11 x _____ = 1045

5) 94 x _____ = 5546

6) 81 x _____ = 5994

7) 16 x _____ = 1200

8) 69 x _____ = 5589

9) 72 x _____ = 6192

10) 45 x _____ = 1395

11) 32 x _____ = 864

12) 15 x _____ = 1110

13) 93 x _____ = 3813

14) 24 x _____ = 984

15) 29 x _____ = 2871

16) 16 x _____ = 816

17) 42 x _____ = 1386

18) 30 x _____ = 2820

19) 47 x _____ = 3008

20) 23 x _____ = 2208

Answers, fold under: Mark your work when you have finished.

1) 67

2) 86

3) 84

4) 95

5) 59

6) 74

7) 75

8) 81

9) 86

10) 31

11) 27

12) 74

13) 41

14) 41

15) 99

16) 51

17) 33

18) 94

19) 64

20) 96
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